1. The population is growing, just at a slower rate than it used to.

2. more than 10% of sub-Saharan African adults are infected with HIV, although the number varies greatly from country to country (Somalia <1% while Botswana (23.9%), Lesotho (23.2%) and Swaziland (26.1%))
3. HIV kills working adults, leaving economic problems, a strain on health care, orphaned children who lack education, health care and nutrition and decreases foreign investment in the region.
4. Population ecology studies the number of individuals of a species in an area and why those numbers increase or decrease.  Population ecologists study competition, predation, disease, reproduction, etc.

5. Environmental pressure is anything in the environment that changes and the organism must have an adaptation in order to survive.  It is a limiting factor
6. Population density is the number of individuals of a particular species in a given area.  Population density for Eastchester http://www.relohomesearch.com/NorthAmericaCity/NY/Eastchester.aspx           Population density for Pine Bush http://www.relohomesearch.com/NorthAmericaCity/NY/Pine%20Bush.aspx 

7. birth rate and death rate
8. number of births or deaths out of 1000

9. growth rate can be positive or negative, determines the % change in a population  and is also called natural increase

10. dispersal looks at the movement of individuals through immigration and emigration

11. first find birth rate 10/1000; then find death rate 33/1000 deaths; then find immigration 20/1000; then find emigration 1/1000.  Now put it all together.          r = (0.02-0.03) + (0.02-0.001) = 0     -2.9% per year
12. Biotic potential is the maximum number of offspring that you can have.  Girls, yours is probably around 25, boys, yours is hundreds.  Remember, though, it is for the population as a whole so everything needs to work right to reach your biotic potential.
13. curve J shape

14. Organisms do not grow at their biotic potentials because of environmental resistance (limited resources, disease, etc).  Examples:  growing bacteria in a dish, they will run out of space and their area will become poisoned, killing them when the population gets too big.  Feed lots and aquaculture areas have increased disease due to lack of space.  

15. Negative feedback is when an excess of something limits its continuation.  For example a thermostat will turn off when there is an excess of heat, limiting the continuation of heat generation.  Another example is if too many prey are in one region, they will be caught and their numbers will decline.  Too much “turns it off”

16. Carrying capacity (K) is the largest sustainable population for an area

17. curve, they level off into an s-shape curve

18. Competitive exclusion

19. r-strategists (r-selected) have high reproductive rates (above carrying capacity).  Adaptations: tend to be small, have large numbers of offspring, little parental involvement, short life spans.  They are adapted because they produce lots of offspring so the chances of some surviving is pretty good.

20. K-selected species have a low reproductive rate and their numbers tend to be near carrying capacity.  They have long life spans, care for their young and are highly competitive.  Each offspring has a better chance of surviving than an r-selected species b/c they are cared for and reared.

21. Humans are K-selected and will display type I survivorship b/c most young will survive and the individuals die at an old age.  Most alligators die in the beginning of life since more are produced than can survive.  Therefore, they show Type III survivorship.

22. density dependent factors are those environmental pressures that increase as the population increases.  Examples include resources, disease, predation
23. boom or bust-boom is when the population grows exponentially and bust is when is crashes (rather than stabilizing)

24. A density independent factor is one that is not influenced by changes in population size.  Examples are natural disaster or times of plenty.

25. Resources are limited and he was afraid the human population would experience a crash.

26. improved technology like farm machinery, clean water, health care and medicines.

27. zero population growth is when birth and death rates are equal.  We are looking at global population, so it does not matter where people move. 
28. demographics give statistical data about a population. Included are % female, % male, % under reproductive age, % of each race, % in each income bracket, etc.

29. China-1.3 billion, India 1.1 billion, US 302 million, Indonesia 217 million, Pakistan 143 million, Russia 142 million, Japan 127 million, Mexico 107 million, UK 60 million, South Africa 47 million, Canada 32 million, Australia 20 million
30. HDCs have low birth rate, low population growth rates, low infant mortality rates, long life expectancies, high gross national income and purchasing power.

31. Infant mortality is the death of a child under the age of 1 year expressed as # of deaths per 1000.

32. GNI is gross national income (the total amount if $$$ the country earns) PPP is the purchasing power of a country and per capita means per person.

33. moderately developed and less developed

34. LDC is a less developed country characterized by high growth, birth, and infant mortality rates, low life expectancy, and not a lot of money

35. Doubling time is the number of years it will take for a country to double in population.  Doubling time=70/growth rate (td=70/r)

36. r=(0.012-0.004)+(0.006-0.002)=0.012=1.2% so doubling time is 70/1.2=58.3 years
37. Replacement fertility is the number of children a couple must have to replace themselves.  It is higher than 2 because not all individuals reproduce.

38. P-Tip (instead of a Q-Tip, I know, lame, but what can I tell you).  Pre-industrial is when the birth and death rates are high.  Population size is stable.  Transition stage is when death rates decrease but birth rates do not so population size increases, Industrial is when birth rates decrease so population begins to level out, Post-industrial is when birth rates decrease more and population size decreases or remains stable.

39. An age structure diagram shows the number of each gender in each age group (can be yearly or grouped)

40. 8.17b while it seemed to be in a decreasing pattern for a while has a few more people in the 0-14 age group than the 20-34 age group.  8.17c is steadily decreasing.  This could, however change if the current reproducing group has more children than expected.  It may be that people are having kids later in life here!

41. note that in sub-Saharan Africa, there will be a “pinch” in the reproducing age group and a broad base b/c of high fertility (birth) rates

42. IRCS=Immigration Reform and Control act-top priority to people with family here, those who can fill jobs, asylum seekers.
